20,000
10,000

1980

mERENAL

m Ry A O

1940 1947 1950 1955 1960 1965 1970 1975 1980 1985 1990 1995 2000

11



mg/L

mg/L

e 1970 1980
9.0
80 —- —— IR
70 L
60 —“-XmAoe
50 \ |
40 2
30 ™ A ﬁ d
20
10
00 : e

1976 1981 198 1991 1996 2001 2006
9.0
8.0 ‘m h mg/L
70 RS 1
60 h I
5.0 - EilR i C

1.0

i a1
VA

M AnasWaN

0.0 T
1976 1981 1986

1991 1996 2001 2006

mg/L

5.0

80
7.0

6.0
5.0
4.0
3.0

2.0

1.0

0.0

bl WP L2 . A

[N N RN N DN BN R N | I R L i

1981 1986 1991 1996 2001 2006
12



=

mg/L

N

mg/L

1970
1980
T-N 1999
g mg/L
6 I =] |
——XIJILE
4
2
0

42)9725 19774 19824 19874F 19924 19974 20024

o ]
20

—— @I

. ][ =

10 -
0

19724F 19774F 19824 19874 19924 19974 20024

—=— m#EIT

- m#llL

19724F 19774 19824 19874F 19924 19974F 20024

1991 3
1991 4

13




o 1970
o 1980 1990
< 1
(o]0]
£ 08 —— KN ||
0.6 ——dNE|
04
0.2
[a
o 0
1972F  19774F 19824F 19874F 19924 19974F 20024
2
< —e—mllT
o0 1.5
& —m— ke

o
=)
19724F 1977F 19824 19874 19924F 19974 20024

< 1 ¥
%" 0.8 —— T

0.6 - B L

0.4 | . 1991 3 1
a 02 - I 3 |- : -;-_;1 ‘.r'un'-.- = 1991 4 1

19724 19774 19824F 19874 19924F 19974 20024

14



